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PHYSIOLOGY

Paper : MI 2-T (Minor)

(Introduction to Physiology - II)

Full Marks :40 Time : Two Hotus

The figures in the margin indicate fult marks.
Candidates are required to give their answers

in their own words as.far as practtcable.

Grcup - A

Answer arry Jive questions : 2x5=10

1. What are microsomes? State its one function. 1+1

2. What do you mean by ero value of an en:rymatic
reaction?

3. What do you mean by protective power of a lyophilic
colloidal solution?

4. Why do not a -helices and B -pleated sheets occur in
collagen?

5. What is deglutition reflex?
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6. Name blockers (one each) of Aconitase and a -

keto glutarate dehYdro genase.

7. What is Reichert Meissl number of lipids? Mention its

1+l$grutrcance.

8. Mention the difference in the functions of hexokinase and

glucokinase.

Group - B

AnsweranY;foarquestions. 5x4:20

9. Explain how optimum membrane fluidity is mainaind in

cells. DistingUish betureen integal and peripheral proteins

of cell membrane. 3+2

10. State briefly the importance of viscosity in the

physiological system. The pH of lL of phosphate buffer

is 7.4.If its volume is raised to l.Sl,,would its pH

turdergo any change? Explain your answer. 3+2

11. What is steroid nucleus? Distinguish between at-3 and

ot-6 fatty acids with examples. 2+3

12. Briefly describe the Watson and Crick model of DNA'

13. What do you mean by post-prandial alkaline tide? What

are Zwitterions? 3+2

14. Write a short note on the anaplerotic reactions of TCA

cycle.
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Group - C

Ansqer any ofie question. 10x1:10

15. Describe the process of lipid absorption in GI tract. How

starch is digested to glucose in GI tract? What is

congenital lactose intolerance? 4+4+2

16. Distinguish between uniport. symport and antiport

translocation systems. Classiff enzymes and give an

example of each. 5+5

<{r{-{rr

frstet - o

c{-6am "ftu'6 efcf< fu{ qNe | \xc=) o

) I xRce'trqlE fir kr< **5 pM <f+t +cnt I )+)

\ I esF qaqk[nFs frfu-{'K Tt{ Qro <Ercs ft mtc-<na

o 1 46ffi-E sEjrvlai u<C6I( aft3t1qas -tG <-ecs fi
c{rc<[?

8 I C<q a -Cefrs q<( p -(?r&s ftefr 5qlEir(qc{ llb
aTr

a I &{Ff{ frc5lq frr
g I Aconitase €{( a -ketoglutarate dehydrogenase-€3

erF rr< aB<-{-rs{ d]l 6Ec<II I

P.T.O.

vN-2/15 - 1400



(4)
c r mfcsK Reichert Meissi tr({iT sE? s< \9:TsAii G[F"]'

st-<l I )+>

rr I cercTlstrTqq o<i qcorcEr"rre< "iteF+f Era"l <t6-<t t

futat - "l
({-mrcil uf<'F er;f< EE< m€ | cx8=\o

b r c+ic{ fu< t[r{ET RtR-< s-<atgI {qlT <FII E{ sl
<iFfi sr.<l1 6$tqffi qlsisftq s 4foE catftq-{ Tr<i

9+\
"Ircfu s'[<l I

>" r -tlaT{frt <j<{lT q|qsK ssq q(ffic"t <cEl r > FFf<

Tq[Tt <FFIcr{ pH emt z.+ r <fr q< ql'ffit 5.4

FiA< Es, s'lqcq ft e< pH-q rnm {k<6{ qmt

re.FIRI EgrE-{ q'r6+ <il?fi qt\e I e+t

) > r 6{c$s frBB-qlq fi I Sqr€qqq ar -3 €<( ar -6 +itB
q1frTw rc$ "[cfs, a,Gtl I q+s

) e. I q((TC't DNA-q< sxFqq ,{<( frT T6wI <l'F[I Stsl I

>rcr c"n'?-afifuxrq s-rfiT cq'Fsr< TETS fr r+rr+'tl

Zwitterons frt e+\

)8 r TCA Er@.< qimc?ffis frfuxrteFm G"r< .{s'E

q(frg ftfl 5ry6aff 1

,,1



vN-2t16 - 1.100

(5)
futq - rt

F-c+Imt qoF etct< Eq-< q'ts r ) ox):) o

>c I GI EiltB frFM 6t'r{c*T afr* <"fqt oc-<t r frotr< $t6

cr Eir? {rErq qfrqs qr ? q'Ttls Ertorfrq
8+8+lqqRtvt ftr

>u r Q$foqff FwmE e<( qltfrm6 mrf,lc<Ffi q6&-<

rc<l "mfu Ec t r erqR{ ceftffi TGII ,q<\ aBf<
Bq'l{{q qle r c+e


